
Subject: Re: brain twister
Posted by Pavel A. Romashkin on Fri, 08 Dec 2000 17:59:03 GMT
View Forum Message <> Reply to Message

Well, try this. I think it is doing exactly what you expect given that A
is passed by reference, no matter how bizarre it looks.

.comp
pro test1, x, y
  x[2] = 10.
  print, y
end

a = findgen(10)
print, a
test1, a, a

X and Y are "pointers" to the same array A.
Cheers,
Pavel

Page 1 of 1 ---- Generated from comp.lang.idl-pvwave archive

http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=3702
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=12784&goto=22806#msg_22806
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=22806
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

